
 
FICHA Nº 11 
para 1º ESO 
(NÚMEROS DECIMALES) 
 
para hacer a LÁPIZ y “curioso” 
 

 
 
 
OPERACIONES: 

1) 7,5 � (48,6 – 12,38) = 

 

 

 

 OPERACIONES: 

2) (72,8 + 270,3) : 9,4 = 

 

 

 

 

 
 

 

 
 
 
 
 
 
 
OPERACIONES: 

3) 31,02 + 855,4 : 3,25 : 20 = 

 

 
 

 

 

 

 

 
 
 
 
 
 
 
 
 

4)  0,2 � (347,5 + 0,38) -  69,55 = 
 

 

 

 

 

OPERACIONES: 
 
 
 
 
 
 
 
 
 

5)  57,4 � 4,45  - 327,68 : 12,8 = 

 

 

 

 

 
 

OPERACIONES: 
 
 
 
 
 
 
 
 
 
 

6)   257,4 + 31,15 : 0,01 + 0,2 = OPERACIONES: 

 
 

 

ALUMNO/A:  ___________________________________________ 

                                 FECHA:  ___________     GRUPO: _______ 


